User’s Models AR-PY and AR-WY

Outdoor-installed Waterproof
Man ual Boxes p

(for Two Arresters)

YOKOGAWA ’ IM 77M02Y02-01E
1st Edition: Jan. 2004 (MC)
Yokogawa Electric Corporation 3rd Edition: Aug. 2005 (KP)

Thank you for purchasing this waterproof box for outdoor
installation. To ensure safety, be sure to thoroughly read
this User’s Manual before using the box, then keep it
handy for future reference.

W Contents of the Package
Check that the package contains the following items:
® AR-PY or AR-WY main unit: 1
® User’s Manual (IM 77M02Y02-01E): 1
® M4 screws for mounting arresters: 8
@ Pipe-mounting bracket: 1 — for AR-PY only
@ U-shaped bracket assembly: 1
(one U-shaped bracket and two M8 nuts) for AR-PY only
® Wall-mounting bracket: 1 — for AR-WY only
® M5 screws for fixing the mounting bracket: 4
@ Hand tool for drilling wiring holes: 1
@ Large wiring cable glands: 4
® Small grounding cable gland: 1

1. PRECAUTIONS FOR SAFE USE OF THE PRODUCT

The following safety symbol is indicated on the product to
ensure safe use.

A

If this symbol is indicated on the product, the operator
should refer to the explanation given in the user’s
manual in order to avoid personnel injury or death to
either themselves or other personnel, and/or damage to
the instrument. The manual describes the special care
the operator should exercise to avoid shock or other
dangers that may result in injury or loss of life.

The following symbols are used only in this manual.

A IMPORTANT

Indicates that operating the hardware or software in a
particular manner may damage it or result in a system
failure.

@h NOTE

Draws attention to information that is essential for
understanding the operation and/or features of the
product.

Yokogawa Electric Corporation

Network Solutions Business Division

2-9-32, Naka-cho Musashino-shi, Tokyo 180-8750 Japan
Phone: +81-422-52-7179 Facsimile: +81-422-52-6793

2. MODELS AND SUFFIX CODES

AR-CJY/AS

Model T T
Mounting method
PY : Pipe mounting

WY: Wall mounting

Option code:
/AS : Built-in arrester
(must be specified in a separate purchase order)
Blank: No built-in arrester

3. DRILLING HOLES FOR CABLE ROUTING

Use the supplied hand tool to drill as many wiring holes as the
number of cables to be routed, as shown in the figure below.
Normally, drill Hole F for the grounding wire,

Holes B and C for the protected side, and Holes D and E for the
surge side.

Wiring for protected side  Wiring for surge side

Not used ’% '\\ 0 Wiring for grounding wire
NI 1 1% g forg 9
o

L@ pcbbpf

Not used

4. MOUNTING METHOD
@h NOTE

After cable routing, carefully perform mounting so that
moisture will not enter inside the arrester. Also, be careful not
to fasten the cap on the cable gland too tightly as doing so
could damage the cable.

(1) Mount the supplied cable glands on the wiring holes as
shown in the figure below.

Mount four large wiring cable glands on Holes B, C, D, and
E and a small grounding cable gland on Hole F.

(2) Route the cables into the arrester through the cable
glands. The applicable diameters (outer diameters) of the
cables are as follows:

Cable for protected and surge sides: g9 — 11 mm
Cable for grounding wire: 5.5 — 7 mm

Nut
Outdoor-installed waterproof box
[Inside]
[Outside]
Cable gland
(main unit) Packing rubber

Cable gland
(cap)




(3) Perform mounting using the supplied M4 screws as shown
in the figures below. For wiring, refer to the user’s manual
of the arrester.

When /AS is specified for the option code, arresters are
mounted as shown in the figures below.

Four supplied M4 screws

each for two units

Arresters Arresters

(must be specified in a (must be specified in a
separate purchase order) separate purchase order)

Two supplied M4 screws
each for two units

4.1 AR-PY for Pipe Mounting

(1) Anchor a supplied pipe-mounting bracket onto the box with
the supplied M5 screws.

@ Fixing the Mounting Bracket

Supplied M5 screws in Supplied pipe-mounting
four places bracket

(2) Mount the box onto the pipe with a supplied U-shaped
bracket.

@ Vertical Mounting

275 10 90 (42)
-
r’ ﬁ P ]
H HE
! [
| © | o
S o o ||& g O it
5 ~ = H |
c\\l/ by S H H
I N
= P QN
S I
4 - & !
o o
e} ° 3 E !
)
70 (27) Supplied U-shaped
120 Supplied M8 nuts (142) 32| bracket
in two places
@ Horizontal Mounting
275 10 90 (42)
F’ ) 3
[
2 | o |
< (©] O 18 g O
& ~ =
I o«
S S
N
_ o - o ydva
o
o & ) e
(27) Supplied U-shaped

120 Supplied M8 nuts (142) 32| bracket

in two places

4.2 AR-WY for Wall Mounting

(1) Anchor a supplied wall-mounting bracket onto the box with
the supplied M5 screws.
@ Fixing the Mounting Bracket

Supplied M5 screws in Supplied wall-mounting bracket

four places

(2) Mount the box onto the wall with screws on the lower
holes of the wall-mounting bracket.

@® Wall Mounting
275 10 90 15

( —\ —
[sr]
5] s al d
N ©
o
| [}
2
F ° ® 5 iE
M8 screws
(not supplied) 70 L2 (115)
in three places 100

IM 77M02Y02-01E  3rd Edition 2005.08.31-00




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee575284e8e9ad88d2891cf76845370524d6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f0030028fd94e9b8bbe7f6e89816c425d4c51655b574f533002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c9069752865bc9ad854c18cea76845370524d521753703002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f300290194e9b8a2d5b9a89816c425d4c51655b57578b3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


